BT75=hH)LT—% / Technical Datall

##{+tJLY / Recommended torque : 0.3N=m ~ 0.6N*m

FIZFE / Product Number

AUXRE

H~T & W=t D~k
H dimension W dimension D dimension

EXP/H)

Screw (P or H)

B HE Z{4L#k / Original trapezoid head screw specification

it

Color Type

FERLNZ / Components

No. 2 %5 / Part name #2 / Pcs #&E / Material - REIE / Color-Finish
’ WFAFTIUNTSovk ) TILEF A Fv X ADC12 DIIN— | TSvy - B (REELE)
Handle corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
2 a—r—Javy 9 TILES A Fv X ADC12 DIiN— | TSy - % (NERELE)
Corner block Diecast aluminium ADG12 Silver , Black*Painted (Unfinished inside)
3 AR 4 TILS I AB063S-T5 DILN—- B (NERERANIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
4 H3— : 7 ILEHR A1100P VUN— R (REEENE)
Top cover Aluminium A1100P Silver*Painted (Conductive inside)
5 Thin— : 7ILSHR A1100P DIN—- B (REERENE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
6 JLZE 4 AT L Iovy
Rubber feet Rubber Black
; EMCY—ILEH RTvk g TEMMH (UL94vV-0) ARy HTL—
EMC shielding gasket Conductive fiver UL94V-0 Metallic gray
g EfHE R (M3 x 8) 1 E73 =i LAyFE
Screw (Flat head M3 - 8) Steel Nickel plated
9 B{TE X (M3 x 5) " &% L AYE
Screw (Trapezoid head M3 — 5) Steel Nickel plated

E‘ 752X / Phillips 75f / Hexagon—socket
£ {+4k / Color Type
5 / Code | Y2 hIS4 Uk / Handle corner block I—7—78v% / Corner block {BI#R / Frame ETFHs\— / Cover
SS < )LsS— / Silver < JLsN— / Silver < )LsS— / Silver < )LsN— / Silver
S B 5% / Black 7597 / Black 2 )LiN— / Silver | 2 )Ls3— / Silver

4

8
7
2
4/ Title
TAKACHI| Mt 2hFERIE SwHTYUREMCY — LR —R (} |\|II
TAKAGHI ELECTRONICS ENCLOSURE €0, LTD: EMC Shielded 19" Rack Mount Enclosure
7%/ Approved & /Checked #1[X]/Created F& /Product number RI&/Scale
iR £ A AUXRE133-43-43[1-101 v
1R A /Date 2024/07/11 1/ 6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




B-B(1:6)
™
[ee]
™
383
D view
D(1:3)
m pr—
< (>
o
~N
o
N
=)
™) - —
-
© 1o
.8 4-FRIN6.5x 11

E view

(1]

A view

132.5+0.5 (r—X 4} % / External)

= il :
T Il
I A —

F view

430+0.8 (5 —X 4V #2 / External)

A-A(1:6) C-C(1:6)
C
o) 7o)
i To)
- Y
~
422 422
C view B view
430+0.8 (.7 —R 4V 2 / External)
4575
4/ Title
TAKACHI| Mt 2hFERIE SwHTYUREMCY — LR —R (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC Shielded 19” Rack Mount Enclosure
&R /Approved 1% X]/Checked #[X/Created I /Product number RE/Scale
1:6
iR e A AUXRE133-43-43[1-101 p— v
1R A /Date 2024/07/11 2 /6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A IR / A Frame

380

131.5

M / Front side

B {8I#x / B Frame

M / Front side

125.2

T_"_— i#
B 4
M3
5 2-M3AHY IR S
2-M3 Countersunk
225 ¥ RxImEEE R / Same on the other side.
o
= E
™
(9]
3
©
™
— E
N
™
%M / Back side
© o
(Lo
\"“__r'_‘l
%M / Back side
a4/ Title A —
= A =5
TAKACHI] HRARHIDFEHIE IR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7R/ Approved & /Checked #1[X]/Created FIZ /Product number RE/Scale
1:3
iR S it —
H133 - W430 1R B /Date 2023/01/05 3 /6
AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

380

131.5

M / Front side

D {8I#& / D Frame

M / Front side

125.2

14,

E'\ f\j
E 4
j M3
5 2-M3FH IR 5

2-M3 Countersunk

225 X R EEFEHE / Same on the other side.
o
@ -
™
[9p)
3
™
[9p)
= F
o~
™
X / Back side
© o
—=="]
—
ZEM / Back side
a4/ Title A —
PN -
TAKACHI] HRARHIDFEHIE IR O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
722 /Approved 1% X]/Checked #[X/Created FIZ /Product number RE/Scale
1:3
chif £ 554 R
H133 — D430 {ER{ H/Date 2023/01/05 4 /6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4194

A#h~ti% / Max dim. 383+0.5

; 3 b o ©
e =4
REES—IEY
Surface protective film side
— N & \
A3h~ti% / Max dim. 38305
M / Front side ZZM / Back side

BREUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mf/Title
HIN—

Top cover

S
S —

7 2%/ Approved 1% X]/Checked #[X/Created

iR X B

#17 /Product number

RE/Scale
1:4

W430 - D430

YERZ B /Date 2022/11/16

R—/Page

5/ 6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4194

A#h~ti% / Max dim. 383+0.5

> S ) . L
s <
REES—IEY
Surface protective film side
A3h~ti% / Max dim. 38305
ront side = ack side
KM / Front sid B / Back sid

BRRUIHNTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mf/Title
THhi—

Bottom cover

S
S —

7 2%/ Approved 1% X]/Checked #[X/Created

iR X B

#17 /Product number

RE/Scale
1:4

W430 - D430

YERZ B /Date 2022/11/16

R—/Page

6 / 6

AREDEIEIHRARHINTFEMITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	シートとビュー
	AUXRE133-43-43□-□□-モデル
	2
	3
	4
	5
	6


